2RXS J165704.3+563242
|
]

= (TR R (VTN N B (11N N A B B (11NN B
T
o o o o
i i i i

(A93 s zwd)/suojoyd

gamm*powl

o>~ L —
To)
o
o
o0 [ ]
aN - _
~ ]
O | —
™ L —
(o))

o (R TNE H A [TR NI O A (TR RO O M (11 R O O O

7 < 7 b

o o (@] o

L | —] — L o |

(A s)/s3uno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

3.33E+01
6.73E+01

+—-
+—-

4 63E-03

+—

o
a2~ © O m
© o © + &
I I + @@ I
B @ B9 m
>~ — + © o
0 N v o ™
[ TR [T
Il
o
© I
[ Il
o I g
0 § I =
o, o T 15)
n = Z2 . =z
TTTT[TITI[TTIT T ITI[ITIT T

_*_

_*_

WERANRRRARREN

[RERERRRRAL:

s[enpisay

N — o - O

1.00

0.10

X2req = 0.895

Energy/keV



